
Call us if you can't find or identify the part you need 

 
Hutch Trailer Suspension - 7600/7700/9600/9700 Widespread 

(61'' to 121'' Axle Spacing)  Four Spring 
 

 



Call us if you can't find or identify the part you need 

 

Hutch Trailer Suspension - 7600/7700/9600/9700 Widespread 
(61'' to 121'' Axle Spacing)  Four Spring 
 

 Part # Description OEM # Price Note 
29 TRA021 Single Leaf Trailer 

Spring 
SP0363 / 
36300 / 
3134034 / 
363-00 $80.32 

  

29 TRA023 Single Leaf Trailer 
Spring 

SP0360 / 
36000 / 360-
00 $83.06 

  

29 TRA2726 3 Leaf Trailer Spring SP0354 / 354-
00 $87.48 

  

29 TRA2727 3 Leaf Trailer Spring SP0355 / 355-
00 $87.48 

  

29 TRA2728 3 Leaf Trailer Spring SP0356 / 
35600 / 
1490401 / 
70038 / 
10300003 / 
356-00 $87.48 

  

29 TRA2740 3 Leaf Trailer Spring SP0365 / 365-
00 $98.10 

  

29 TRA2741 3 Leaf Trailer Spring SP0365-01 / 
700311 / 365-
01 $98.10 

  

29 TRA2752 2 Leaf Trailer Spring SP0324 / 
32400 / 32401 
/ 324-01 $80.70 

  

29 TRA2754 2 Leaf Trailer Spring SP0326 / 
32600 / 32601 
/ 326-01 $80.70 

  

29 TRA2757 2 Leaf Trailer Spring 1624101 / 
1671001 / 
LA01 / LA13 / 
WIN01 / 
431361 / 
16710-01 $191.50 

  

1 

  
Hanger, Front   

  
Call For I.D. /Price 



Call us if you can't find or identify the part you need 

2 

  
Hanger, Rear   

  
Call For I.D. /Price 

3 

  
Hanger, Equalizer   

  
Call For I.D. /Price 

4 

  
Guides, Beam   

  
Call For I.D. /Price 

5 322-145 Washer, Steel 7717-01 

$4.06 

Replaces Side 
plate Washer on 
Fabricated Front 
& Center 
Hangers Only 

6 338-1492 Assembly, Equalizer; 
Fabricated 

21841-01 

$347.44 

Incl. 321-176 
Bushing; 61" Axle 
Spacing 

6 338-1491 Assembly, Equalizer; 
Fabricated 

9239-03 

$388.67 

Incl. 321-176 
Bushing; 67" Axle 
Spacing 

6 338-1493 Assembly, Equalizer; 
Fabricated 

9239-04 

$388.91 

Incl. 321-176 
Bushing; 73" Axle 
Spacing 

6 338-1490 Assembly, Equalizer 9239-09 

$725.27 

Incl. 321-176 
Bushing; 97" Axle 
Spacing 

6 338-507 Assembly, Equalizer 9239-10 

$645.74 

Incl. 321-176 
Bushing; 109" 
Axle Spacing 

6 338-1537 Assembly, Equalizer; 
Fabricated 

16168-01 

$266.75 

Incl. 321-221 
Bushing; 61" Axle 
Spacing 

6 338-2111 Assembly, Equalizer; 
Fabricated 

16168-15 

$311.40 

Incl. 321-221 
Bushing; 64" Axle 
Spacing 

6 338-1480 Assembly, Equalizer; 
Fabricated 

16168-03 

$273.53 

Incl. 321-221 
Bushing; 67" Axle 
Spacing 

6 338-1481 Assembly, Equalizer; 
Fabricated 

21835-01 

$380.04 

Incl. 321-221 
Bushing; 73" Axle 
Spacing 

6 

EQ16807 

Assembly, Equalizer; 
Fabricated 

16168-07 

$375.74 

Incl. 321-221 
Bushing; 81" Axle 
Spacing 



Call us if you can't find or identify the part you need 

6 338-1482 Assembly, Equalizer; 
Fabricated 

16168-09 

$670.37 

Incl. 321-221 
Bushing; 97" Axle 
Spacing 

6 338-1483 Assembly, Equalizer; 
Fabricated 

16168-10 

$646.82 

Incl. 321-221 
Bushing; 109" 
Axle Spacing 

6 

EQ16813 

Assembly, Equalizer; 
Fabricated 

16168-13 

$682.50 

Incl. 321-221 
Bushing; 121" 
Axle Spacing 

8 334-639 Kit, Service; Equalizer 
Bolts 

10287-01 

$10.93 

Incl. (1) 334-342 
Bolt Assy. & (2) 
334-343 
Rebound Assy. 

8 334-1612 Kit, Service; Equalizer 
Bolts 

16353-01 
$16.77 

9600/9700; Incl. 
Key No. 10 & 13 

9 334-341 Assembly, Bolt & 
Bushing 

  

$24.24 

Incl. 321-176 
Bushing & 334-
342 Bolt Assy. 

9 334-1272 Assembly, Bolt & 
Bushing 

  

$29.09 

Incl. 321-221 
Bushing & 334-
937 Bolt Assy. 

10 334-342 Assembly, Bolt   

$9.29 

Incl. (2) 334-366 
Bolts, Lock Tab & 
Lock Nuts 

10 334-937 Assembly, Bolt; 1 1/8"-7 
x 6 5/8"Lg 

  
$16.41 

Incl. 334-739 Bolt 
& Hdwe. 

11 334-366 Bolt; Equalizer; 3/4" X 
6"Lg, 5/8"-18 Thread 

7016-01 
$5.78 

Old Style 

11 334-739 Bolt; 1 1/8"-7 x 6 5/8"Lg 16150-01 $11.70 9600 & 9700 
12 321-176 Bushing; 3 1/4"OD x 3 

7/8"Lg 
7010-00 

$14.22 
7600; 7700 

12 321-176U Bushing, Urethane   $29.31 7600; 7700 
12 321-221 Bushing; 1 1/8"ID x 3 

29/64"OD x 3 59/64"Lg 
16146-01, 
18723-01 $15.65 

9600 & 9700 

12 321-221U Bushing, Urethane   $29.35 9600 & 9700 
13 334-343 Assembly, Bolt; 

Rebound; 5/8"-18 x 4 
1/2"Lg 

10287-00 

$3.60 

Incl. Bolt, Tube & 
Lock Nut 

14 334-344 Assembly, Bolt & 
Bushing 

  

$9.56 

Incl. 321-175 
Bushing, 334-345 
Bolt Assy. 



Call us if you can't find or identify the part you need 

14 334-640 Kit, Service; Torque Rod 
Bolt & Bushing 

  

$20.35 

Incl. 334-367 Bolt, 
321-177 Bushings 
& Hdwe. 

15 334-345 Assembly, Bolt; 1"-14 x 
5"Lg 

  
$10.74 

Incl. Bolt & Lock 
Nut 

16 334-367 Bolt; Torque Rod; 1 
1/4"OD x 6 1/16"Lg, 
7/8"-14 Thread 

12709-01 

$9.36 

7600; 9600 

17 321-175 Bushing; 1"ID x 1 
15/16"OD x 3"Lg 

722-00 
$4.60 

7700, 9700 

17 321-175U Bushing, Urethane   $12.44 For Torque Rod 
17 321-177 Bushing; 1 1/4"ID x 2 

3/16"OD x 1 3/4"Hgt 
7620-00 

$3.40 
7600; 9600 

17 321-177U Bushing, Urethane   $8.88 7600; 9600 
18 345-172 Torque Rod, Adjustable; 

18"-20"Lg 
16167-04, 
7615-12 

$99.65 

Use 321-177 
Bushings, Not 
Included 

18 345-170 Torque Rod, Rigid; 19 
1/4"Lg c/c 

11953-01, 
7615-02 

$65.33 

Use 321-177 
Bushings, Not 
Included 

18 345-164 Torque Rod, Adjustable; 
18 1/2"-21"Lg; O.E. 

16398-04 
$61.03 

Incl. 321-175 
Bushings 

18 345-
164HD 

Torque Rod, Adjustable; 
18 1/2"-21"Lg 

713-05 

$67.89 

Heavy Duty; Cast 
End; Bushings 
Included 

18 345-167 Torque Rod, Rigid; 19 
1/4"Lg c/c; O.E. 

715-00 
$31.07 

Incl. 321-175 
Bushings 

19 345-172 Torque Rod, Adjustable; 
18"-20"Lg 

16167-04, 
7643-01 

$99.65 

Use 321-177 
Bushings, Not 
Included 

19 345-724 Torque Rod, Adjustable; 
22 1/4"-24 3/4"Lg 

16398-08, 
713-11 

$96.34 

Incl. 321-175 
Bushing; 61" Axle 
Spacing 

19 345-725 Torque Rod, Adjustable; 
23 1/2"-26"Lg 

16398-09, 
713-08 

$96.61 

Incl. 321-175 
Bushing; 61" Axle 
Spacing 

19 345-727 Torque Rod, Adjustable; 
27 1/2"-30"Lg 

16398-11, 
713-09 

$95.41 

Incl. 321-175 
Bushing; 67" Axle 
Spacing 

19 345-726 Torque Rod, Adjustable; 
25 1/2"-28"Lg 

16398-10, 
713-13 

$93.96 

Incl. 321-175 
Bushing; 67" Axle 
Spacing 



Call us if you can't find or identify the part you need 

19 345-717 Torque Rod, Adjustable; 
28 1/2"-31"Lg 

16398-12, 
713-21 

$96.13 

Incl. 321-175 
Bushing; 73" Axle 
Spacing 

19 345-720 Torque Rod, Adjustable; 
29 1/2"-32"Lg 

16398-13, 
713-22 

$97.35 

Incl. 321-175 
Bushing; 73" Axle 
Spacing 

19 345-721 Torque Rod, Adjustable; 
33 1/2"-36"Lg 

16398-15, 
713-20 

$100.14 

Incl. 321-175 
Bushing; 81" Axle 
Spacing 

19 345-164 Torque Rod, Adjustable; 
18 1/2"-21"Lg; O.E. 

16398-04, 
713-05 $61.03 

Incl. 321-175 
Bushings 

19 345-
164HD 

Torque Rod, Adjustable; 
18 1/2"-21"Lg 

713-05 

$67.89 

Heavy Duty; Cast 
End; Bushings 
Included 

19 345-191 Torque Rod, Adjustable; 
16"-18"Lg c/c; 

16398-17, 
713-10 $85.57 

Incl. 321-175 
Bushings 

19 345-778 Torque Rod, Adjustable; 
32 1/2"-35"Lg 

16398-14, 
713-15 

$80.90 

Incl. 321-175 
Bushings; 81" 
Axle Spacing 

20 338-1367 Saddle, U-Bolt; 3"W x 7 
9/16"Lg x 1 3/4"H; Roll 
Formed 

16868-01 

$11.41 

All Axles; U-Bolts 
Down 

20 338-381 Saddle, U-Bolt; 3"W x 7 
1/2"Lg; Fabricated 

7029-00 
$10.28 

Fabricated; U-
Bolts Down 

21 GL-295 Liner; 2 7/8" x 8"Lg 
w/7/8" Hole 

  
$2.93 

  

22 338-396 Spacer; 3"W x 7"Lg. x 
1/2"Thk, 13/16" Hole 

  
$23.59 

  

22 338-397 Spacer; 3"W x 7"Lg. x 
3/4"Thk, 13/16" Hole 

  
$23.38 

14" to 15" Ride 
Heights 

22 338-221 Spacer; 3"W x 7 1/2"Lg x 
1"Thk 

  
$30.58 

  

23   Spring Seat   

  

Call For 
Identification & 
Price 

25 338-214 Plate, U-Bolt Bottom 
Clamp; 3 7/8"W x 5 
7/8"Lg c/c; 5" Round 
Axle 

7622-00 

$57.79 

7600; Front 

25 338-1698 Plate, Bottom 16297-01 
$23.02 

5" Round Axles; 
3/4" U-Bolts 



Call us if you can't find or identify the part you need 

25 338-471 Plate, Bottom U-Bolt 
Clamp; 5" Square Axle, 
3/4" U-Bolts 

7747-00, 
7747-01 

$55.01 

7600, All Front; 
7700, 61"-81" x4, 
97"-121"F; 9700, 
61"-81" x2, 97"-
121" F 

25 338-415 Plate, Bottom U-Bolt 
Clamp; Fabricated 

710-00 
$21.61 

5" Round Axles, 
7/8" U-Bolts 

25 338-470 Plate, Bottom U-Bolt 
Clamp; 4"x 6" Axle 

7746-00 

$54.90 

7700/9700 Front, 
61"-81"x2; 97-
121" 

26 338-448 Bracket, Stabilizer; 5" 
Round Axle; No Hop 

7619-00, 
7619-01 $134.09 

Rear Axle Only; 
7600 Series 

26 338-449 Bracket, Stabilizer; 5" 
Square Axle; No Hop 

7621-00 
$154.60 

7600; Rear 

26 338-469 Bracket, Stabilizer; 5" 
Square Axle; No Hop 

7738-01 

$325.31 

7700 Rear, 97"-
121"; 7700 No 
Hop, 61"-81" 

26 

M163081 

Bracket, Torque 
Rod/Axle; 3/4" U-Bolts 

16308-01 

$166.77 

9700 Rear, 97"-
121"; 9700 No 
Hop, 61"-81" 

26 338-438 Bracket, Stabilizer; 5" 
Round Axle; No Hop 

7025-00, 
10775-00 

$131.40 

7700/9700 Rear, 
97"-121"; 
7700/9700 No 
Hop, 61"-81" 

26 338-2505 Bracket, Stabilizer; 5" 
Round Axle; No Hop 

28800-01 
$146.32 

Replaces 338-438 

27 338-414 Bracket, Torque Rod 
Seat 

706-01 
$73.16 

All Models; 
Underslung Axles 

28 361-218 Kit, U-Bolt; Round Bend, 
Grade 5 

  
$26.43 

7/8" x 3" x 14 
1/2" R 

30 334-1827 Pad, Wear 755-03 $11.39   
 


